Basic C/C++ Programming Name:
Solution of Quiz ©6

1. 3% [int A[10], n = 2, *p = &n;
(TSR EE ~ eIk {E)
a) &n b) n + 2 c) &p d) *A e) A
Ans: a)c)e)frBEEHA R-value ; b)n + 2 117 R-value ; d) *AFtE A[0] > A[LIHEIEIR -
2. 2 B NYIE—1E expression A&TE ?
a) A+ 2 b) A - n c) A+p d) A-p e) p+n
Ans: fir'E +,%,/ rBAEE -
LUT 5 EFESE 4 TR

» S LU —(E expression 7 L-value?

char A[ ] = "hello";

3. SIS 3 FTEEIHIHE ? char *p = "hello”;

a) b) I say helld)
c) |L#vd|#hello d) ay helld|
e) |I say 3hellq
Ans: "I say "(RREETROBFEEUEGEEEE T NWUIE) > (BN 3 EBEAZEEE]"a /i
B HEI -
4. THIH—{E assignment FH7ART 7
a) p = A[1]; b) p[1] = "z'; c) p[1] = A[4]; d) A =p; e) A[1] = p[4];
Ans: a) p ETULIER  [FCiERELE > p = &A[1]; A &E7A 5 b)c) p fEMTFEREE - ARECEE
W d) (YRS IFISEL & > $§75 R-value
5. A5 4 TG EIH e ?

cout << "I say " + 3 << A << endl;

A W N R

cout << *p++ << ++(*A) << endl;

a) b) c) d) e)
Ans: *p == p[@] == "h', JEFEMNIM (p = p + 1) ; ++(*A) means 4% (*A = *A + 1)
means (A[@] = A[@] + 1 == 'h' + 1 == 'i') & *A (== A[Q]) > FRDLAE 'i' -
6. &IBE 41T - FEEMS] A FAYFEREREY 2
a) "ello" b) "hello" c) "hfllo" d) "iello" e) "hzllo"
7. &GHEE 41T 0 SEIETERE p fR MY ER R ?
a) "ello" b) "hello" c) "hfllo" d) "iello" e) "hzllo"

Ans: *p == p[@] == "h', Je{EN (p = p + 1) : p EEplf5mE "' AYUE -
DI 2 HEE2Z T ES ¢
lint z[20] = {1, 2, 3, 4}, *p = Z + 2, *q = &Z[3];]
A H o RER \sizeof(int)%4 bytes.
8. {Hk [cout << Z;[FNH [1200/(EE il &2 16 M8 » HIELFBRERE 10 #Efr) -
i lcout << piJErene: ?
a) 1234 b) 00 c) 1208 d) 1220 e) 1202
Ans: p L Z % 2 {# int, 1200 + 2*4 = 1208 (p == &Z[2]; Z == &Z[0];)
9. BT —fTlint n = q - p;|" FEFnAVEEE?

1




Ans:

10.

11.

a) 1 b) 2 c) 4 d) 8 e) 16
qlb p % 1 {# int (BEEUIEEENY 1 (HEA4) (p == &Z[2]; q == &Z[3];)

FE—{E R R =0F - —{E return AF call HCHY case AUl ?

a) a terminal case b) a recursive case C) a base case

d) the default case e) an unconditional case

AR A PR B P P S A TR Y TR 2

a) BMELIERE  b) Ksize M@ c) FFREFCEME d) R-value [ e) MESEMIEA

12. PR FUEERCE state?
a) static local variables b) static global variables
c) C++ iostream library d) the stack of function calls
13. C {440l data FYFEZE 7
a) fh = fopen("data™, "r"); b) fh = open("data"); c) cin >> data;
d) fh = read("data"); e) fh = openfile("data");
14. 2 R [aERIRIE 2
a) char* b) int* c) int d) FILE* e) FileHandle
15. 2 ¥ HHREREMAIN Y E BE ?
a) fh 1= 0 b) fh == NULL c) fh == EOF d) Segmentation fault
Ans: NULL 5% @> if (fh == NULL) HtE if (!fh)
16. VIR R i i i FE A R R ?
a) EEUIFEXECIFAE b) EEEEXETIFE c) EHEEREXECEE
d) LRI E AL e) FREMEIREZEAFE

BRI ZE R AL (A & VS P LAY > (REERS abc. cpp IUQFIEAITE S MFAEH -



DU 8 g2 e = - 1 struct flight{
7 TR S E S EUE 7 2 char name[7];
a) flight *x; 3 int altitude;
b) struct flight x; 4 struct flight *next;
c) flight x; 5} *y;
d) typedef flight x; 6 typedef struct flight Flight;
e) struct flight *x; 7 Flight x = { , 100, &x};
18. FE5THIYy & 7 8
a) a struct tag 9 Flight change(Flight a) {
b) a keyword 10 a.altitude = 200;
c) a type 11 a.name[0Q] = ;
d) a field 12 return a;
e) a variable 13 }
Ans: y & —{E4&EETEAREE 14 int main(){
19. T5IUF—( expression £ 15 Flight z = change(x);
y->name (g ? 16 y = &;
a) *y.(*name) 17 }
b) y.(*name)
c) (*y).name
d) (*y.name)
e) *(y.name)
Ans: y->name == (*y).name != *y.name == *(y.name) == (*y.name)
20. GEHEE 16 1714 > [Fy->name fl{H & E ?
a) NULL b) 'h' c) "hello" d) '\e’ e) 100
Ans: *y->name == *((*y).name) == *x.name == x.name[@] == 'h';
21. GG 15 1714 - mémaa ?
a) NULL b) ' c) "hello" d) "zello" e) ""
Ans: &EEEEE F"ﬁuxx%}%ﬁ@ﬂ
22. GG 15 171 - mémaa
a) NULL b) ' c) "hello" d) "zello" e) ""

23. FHI—{#& statement Eﬁ% 11 /75(H ?

a) a[@].(*name) = 'z'; b) *(a.name) = 'z'; c) *a->name[0] =
d) a->name[0@] = 'z'; e) a.(*name) = 'z';

Ans: a.name == &a.name[@], so a.name[@] == *(a.name) == *a.name

24. F 1517 > x B passed (A ) ESH ?
a) by value b) by name c) by reference d) by address

25. BHFY string a, b; Ei char c[10],

d[1e]; Hytb#: - TR 2

a) FEEE(E A #include <string> > £33 #include <cstring>
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b)
c)
d)
e)
f)
g)

a)
b)
c)
d)
e)
f)
g)
h)
i)

Ans:

F5IREIH a = b RE[LL ¢ = d;
5k a = ¢ AA[LL ¢ = a;

HETF#RHEFAH a == b> £H[PL ¢ == d;

EETEEHE a + by AAfLL ¢ +

d;

AIE & SR EE - BB HEEE
AIETFERREASE > REFRRER 10
Ans: fgRE 9 Ef& 18 "\e' FIT
26. > char a[1@] = "hello", *p = "hello"; HYLLEZ - NHI{A[EHHEER 7 (HHEE)
a]lL cout << a << endl s HAE[LL cout << p << endl;

APl cout << a[@] << endl > HHJLL cout << p[@] << endl;

a] DL cout << *a << endl - tHE[PL cout << *p << endl;

a L cout << a + 1 << endl > tAJDL cout << p + 1 << endl;

m L cout << a - p << endl; > AJLL cout << p - a << endl;

AL a = p; > WHEEL p = a;
Al a=a+1; WALl p=0p
[l a[e] = 'g'; - tAlL p[e]

"L a[6] = "!'; - tA[LL p[6] =

a HAH R-value- f) g) A

p f5EIH

BT h) 1) A7

27. BHFY char *a = "hello", *p = new
HEa 7 (1HEE)

"L cout << a << endl - fE[LL cout << p << endl;

ALl cout << a[@] << endl - tAJLL cout << p[@] << endl;

a] L cout << *a << endl - fHE[LPL cout << *p << endl;

a L cout << a + 1 << endl > tAJLL cout << p + 1 << endl;

a L cout << a - p << endl; > HATLL cout << p - a << endl;

a)
b)
c)
d)
e)
f)
g)
h)
i)

Ans:

a f55%H

"L a = p; WAL p = a;

la=a+1; - allp=0p
AL a[e] = 'g'; o tA[DL p[e]
[Pl a[6]

5 h) 1) A7

Yo ALl ple] =

+
- R
“e

| 1l
— 0
e

char[10]; strcpy(p, "hello"); HYELEZ » T4Ia[

+
- R
- e

| 1l
— 0
e



28. AW - EAEWMALAG T IRBEEEGEE | int mainO¢
i Atype a;
a) typedef int Atype; Btype b;
typedef int Btype; cin >> a >> b;
3412 cout << b << a << endl;
return 0;
b) typedef string Atype; }
typedef char Btype[10];
3412 12 34 56

c) typedef int Atype;
typedef string Btype;

3412

d) typedef char Atype;
typedef char Btype;

21

e) typedef char Atype;
typedef int Btype;

21

f) typedef int Atype;
typedef char Btype;

312

Ans: cin FIUAGEZEH -~ tab ~ {TFIL > #e scanf("%d%c", &a, &b); HIEHZEH -

tab > FEE 12



